
 
tiuGfs; - ,Ugbr; rhu;Gfspd; tiuGfs; 

             tbtk; Y= ax2+bx +c 

cjhuzk;:       Y= x2-2x -3 

x -2 -1 0 1 2 3 4 
x2 4 1 0 1 4 9 16 

-2x 4 2 0 -2 -4 -6 -8 
-3 -3 -3 -3 -3 -3 -3 -3 
y 5 0 -3 -4 -3 0 5 

 

(-2, 5)   (-1, 0)   (0, -3)    (1 , -4)    (2, -3)    (3, 0)    (4,5) 

 

 

 

 

 

 

 

 

 

 

 

 

Y= ax2+bx +c tbt rhu;gpd; tiughdJ gutisap MFk;. 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 6 



NkYs;s tiugpd; gz;Gfshtd..... 
 tiughdJ gutisthFk;. 

 rhu;gpd; ,opTg;ngWkhdk; -4 MFk;. 

 jpUk;gw; Gs;spapd; Ms;$Wfs; (1 , -4) MFk;. 

 rkr;rPu; mr;rpd; rkd;ghL x=1. 

 y = 0 MFk; NghJ x ,d; ngWkhdq;fs; -1, 3 vd;gdthFk;. 
 
 
 
 

 

 

 

 

 

 

 

 

 

rhu;gpd; ngWkhdk;. 

  1.rhu;G kiwahFk; X  ,d; ngWkhd tPr;R = -1 < x < 3 

  2.rhu;G NeuhFk; X  ,d; ngWkhd tPr;R = x < -1,  x > 3 

  3.rhu;gpd; ngWkhdk; Neuhf FiwAk; X  ,d; ngWkhd tPr;R = -2 < x < -1 

  4.rhu;gpd; ngWkhdk; kiwahf mjpfupf;Fk; X  ,d; ngWkhd tPr;R = 1 < x < 3 

 

gapw;rp 12.2 ,id nra;f 

 

 

 

 

 


